YEAR 10 Advanced - Class Test 1

QUESTION 1

Factorize
(a) x2=9x+20

(b) 6+5x—x

c) X +5x°—6x

d) 8x*+11x-10

Simplify
x2-10x-24

(@) x2—4

QUESTION 2

Solve for x:
(leave any non rational answers in surd form)

@@ 6x—x*=0

(b) (x-3)*=16

€ x*=9x




Question 2 - continued — (Solve for x:)
(d) 3x*—24x =60

() 5x*—8x+2=0

QUESTION 3

Solve the following by using the
“‘completing the square” method.

@ x*-10x=-7

(b) 2x*-10x+5=0

QUESTION 4

(@) The area of the triangle below is
known to be 12 cm?

X+5

Find the size of x and hence the length of
the hypotenuse to the nearest mm.




Question 4 — Continued (b) Factorize fully: a*—-a*b*+ab*-a°

(b) The height of a ball above the ground,
thrown vertically upwards is given by:

h=30t — 5¢*

(i) Find the time, t, elapsed before
the ball reaches a height of 40 metres

© If x*—8x+7=(x+a)*+b
find the values of a and b

(i) Find how long before the ball falls

back to the ground.
(d) Simplify ——;
X +x
QUESTION 5

(@) Factorize fully: x*=5x*-36
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Question 2 - continued — (Solve for x)
(d) 3x°—24x=60
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QUESTION 3

Solve the following by u'sing the
“completing the square” method.

(a) x* ~10x = —’Z
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Question 4 — Continued

(b) The height of a ball above the ground,
thrown vertically upwards is given by:

h=30t - 5¢*

() Find the time, t, elapsed before
the ball reaches a height of 40 metres
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QUESTION 5

(a) Factorize fully: x*—5x%*-36
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Factorize fully: a*—a*b*+ab*-a
9> (o) - aflo-1) %
&3-ab™a)
= ala?b*Xa-D

o Ca-p)aatdCa) v
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